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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
B1 18 24 10.3 50 48 85.7
B2 1 25 50 50 4.8
B3 7 24.7 10.6 50 49.4 33.3
B4 15 31.9 5.4 50 63.9 71.4
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Section B: Studies in the New Testament 

1. (a)	 Explain how discipline was exercised in the Jerusalem church. [30]

(b)	 ‘The Jerusalem church was autocratic.’
Assess this view.	 [20]
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Sticky Note
An accurate and relevant treatment of the topic, showing thorough knowledge and understanding. The essay is focused on the question and is clearly organised. 





Sticky Note
There is appropriate comment and analysis. Different points of view are considered and there is some reference to scholarly opinion. The response reaches a coherent conclusion.
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Section B: Studies in the New Testament 

3. (a)	 Describe the early Christian mission to the Gentiles. [30]

(b)	 ‘Most of the early Christian leaders did not want Gentiles in the church.’
Evaluate this statement.	 [20]

© WJEC CBAC Ltd.













Sticky Note
While there are elements of relevant information, the knowledge is basic and lacks detail. There is one major inaccuracy (that Paul was originally a Roman centurion). Legibility is barely adequate.





Sticky Note
Comments such as ‘Deacons, who were chosen by the Twelve ... were all Jewish' and the whole gist of the concluding paragraph suggest that the issues are only partly understood. Again, the examiner struggles with the legibility of the response. 
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Section B: Studies in the New Testament 

4. (a)	 Examine Paul’s teaching on marriage and divorce. [30]

(b)	 ‘Paul’s teaching on marriage and divorce is incompatible with that of Jesus.’
Assess this view.	 [20]
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Sticky Note
Knowledge is limited to basics. The essay is brief and lacks development. Some of the biblical references are incorrect, and there is little awareness of scholarly opinion. Technical terms (e.g. parousia) are not used. There is some unsubstantiated comment, e.g. there is no evidence that Paul was ever married.







Sticky Note
The relevant issues are adequately addressed. Different views are considered, with some appropriate analysis and comment. The argument is supported by reasoning and evidence and reaches a satisfactory conclusion.
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SECTION B: STUDIES IN THE NEW TESTAMENT. 
 
To be read in conjunction with the generic level descriptors provided by the chief examiner.  
What follows is the knowledge base according to which marks are to be allocated as 
described in the generic level descriptors. 
 
Q.1 (a) Explain how discipline was exercised in the Jerusalem Church. 
     [AO1 30] 
 


Candidates are likely to include some or all of the following, but other relevant 
points will be credited. 


 
  The election of Matthias: The full complement of twelve apostles is restored to 


show that wherever sin has compromised the church’s integrity, discipline and 
restoration must be pursued. 


 
  Care of the destitute: ‘Being of one heart and mind’, the Jerusalem Christians 


sold all their possessions and gave the proceeds to the apostles, who then 
distributed it to the needy, cf. Barnabas, Ananias and Sapphira compound 
their sin of greed by trying to cover up their sin. The punishment is immediate, 
and by the hand of God (all other examples of discipline in the New 
Testament are exercised by the church). Great fear seizes all who heard. 


 
  The election of the Seven: to address a specific need that arose due to 


cultural conflict between two groups in the church. 
 
 (b) ‘The Jerusalem church was autocratic.’ 
  Assess this view.  [AO2 20] 
 


Candidates are likely to include some or all of the following, but other relevant 
points will be credited. 


 
  For: The apostles were autocratic. Their authority was based on Jesus’ 


promise to be with them to the end of the age, to sanction their preaching and 
to send them the Holy Spirit. It is they who make laws; punish; administer the 
eucharist and baptism; provide successors; judge on religious matters; 
enforce obligations; and determine what is the doctrine of Christ. 


 
  Against: The apostles’ authority was personal, not autocratic, e.g. the 


question of whether Gentiles should keep to Mosiac Law was discussed by 
the ‘apostles and elders’. After founding a church, Paul did not interfere with 
its administration except when he was asked to give an opinion. In such 
cases he was always careful to distinguish between the authoritative words of 
Jesus and his own judgement. The head of the church in Jerusalem was 
James, the brother of Jesus, who was not an apostle. 
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Q.3 (a) Describe the early Christian mission to the Gentiles. [AO1 30] 
 


Candidates are likely to include some or all of the following, but other relevant 
points will be credited. 


 
  The mission to the Gentiles is based on the Great Commission, which may or 


may not be authentic. It turned the church from a small Jewish group meeting 
in Jerusalem into a world-wide movement. The position of the Judaizers was 
defeated by events, e.g. the Peter-Cornelius episode (annual Jewish food 
laws) and the Council of Jerusalem ( a compromise). Paul insisted that the 
Gentiles are partakers of the same promise through the gospel as the Jews 
and maintained that to follow the Judaizers was to forsake Christ. 


 
 (b) ‘Most of the early Christian leaders did not want Gentiles in the church.’ 
  Evaluate this statement.  [AO2 20] 
 
  Candidates are likely to include some or all of the following, but other relevant 


points will be credited 
 
  For: The only apostle who had a specific mission to the Gentiles was Paul; his 


quarrels with the Judaizers and with Peter and James suggest that he was 
the only apostle who did not dither over the issue; his extensive missionary 
journeys. 


 
  Against: The instruction to baptize all nations goes back to Jesus’ Great 


Commission; other apostles had taken this up, e.g. Peter, Phillip; Paul simply 
took their mission forward; The Council of Jerusalem went a long way to 
accommodating the Gentiles. 
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Q.4 (a) Examine Paul’s teaching on marriage and divorce.  [AO1 30] 
 
  Candidates are likely to include some or all of the following, but other relevant 


points will be credited 
 
  The relevant set texts are in Romans 7:1-6 and 1 Corinthians 7. Paul’s 


position on marriage and divorce was influenced by Greco-Roman culture, 
Judaism, and the teaching of Jesus. He reflects a Jewish understanding of 
marriage as a divine institution established at creation. Paul, who was never 
married himself, sees marriage as both an illustration and application of 
spiritual truth. He views marriage as a life-long commitment, cf. Romans 7:1-
6, where marriage illustrated the assertion that one cannot be free of the law 
until one dies. In his teaching on divorce in 1 Corinthians 7, he contends with 
a new dilemma - believers who have unbelieving spouses. He introduces a 
second exception clause that allows divorce when an unbelieving spouse 
departs from a believing partner. Moreover, it appears that where divorce is 
permitted the right to remarry is assumed. 


 
 (b) ‘Paul’s teaching on marriage and divorce is incompatible with that of 


Jesus.’ 
  Assess this view.  [AO2 20] 
 
  Candidates are likely to include some or all of the following, but other relevant 


points will be credited 
 
  For: Jesus prohibited divorce except when sexual immorality had occurred. 


Paul goes beyond this teaching by adding a second exception to the general 
prohibition. 


 
  Against: Paul’s second exception is aimed at a new dilemma and he makes 


clear that he is merely giving his own opinion. His basic teaching clearly 
mirrors that of Jesus, which is that the married are not to be divorced except 
where there has been sexual immorality. 
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